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CORRVOHEELR2023F10AM52023F 12 OFREHEAE(ICED, 2024F3R1REH D OHARE
(BEARE) ZERNBERRHECEIESTROLBDRAEIETVLEEZFIOT, BMSEVLET,

O—fgtlE BT HERA
s X Bi
RS SRR %ﬁﬁ@ s o) %?éﬁ@ IR
HERA [0MHB15mMFT 946.00 200.69 228.13 213.13 208.69 +4.44
REFRB [15mMEBIS50mMET 1,454.20( 166.81 194.25 179.25 174.81 +4.44
PEFRC |50mMZBZ200mMET 2,013.00( 155.63 183.07 168.07 | 163.63 +4.44
PERD [200mMZEBZ800mMET 7,700.00( 127.20 154.64 | 139.64 | 135.20 +4.44
HERE |800MZBRZHE 9,900.00| 124.45 151.89 | 136.89 | 132.45 +4.44

% BUROBICED. 1 mispkhBHAISAMESISNBMERAVLEYS (B - EPHAHRBZEEINREZE)

OAZBEETEI5E
HAOHZARE = BEARE + (SRENE ERE) x AXIERS)
(B) ZfEMAER25m]0fARE = 1,454.20M + ( 179.25 x 25m) = 5935M

(M2%B) (FsRBH8)
HARIEERE B M CEHERA
ERE | A A8E BHEZE | AA8E FERE | AZA8E FHE | AA8E EHE | A A8E BHRE | AA8E
om 946 10m 3,077 20m | 5,039 30m | 6,831 40m | 8,624 s50m | 10,416
i 1,159 11m 3,290 21m | 5,218 31 | 7,010 41mi | 8,803 51m | 10,584
2m 1,372 12m 3,503 22m | 5,397 32m | 7,190 a2m | 8,982 52mi | 10,752
3m 1,585 13m 3,716 23m | 5,576 33m | 7,369 43m | 9,161 53m | 10,920
am 1,798 14m 3,929 24m | 5,756 34m | 7,548 a4m | 9,341 54mi | 11,088
5m 2,011 15m | 4,142 25m | 5,935 3sm | 7,727 45m | 9,520 55m | 11,256
6m 2,224 16m | 4,322 26m | 6,114 36m | 7,907 a6m | 9,699 s6m | 11,424
7m 2,437 17m | 4,501 27m | 6,293 37m | 8,086 47m | 9,878 57m | 11,592
8m 2,651 18m | 4,680 28m | 6,473 38m | 8,265 48m | 10,058 s58m | 11,761
9m 2,864 19m | 4,859 29m | 6,652 39m | 8,444 49m | 10,237 s5om | 11,929
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| BERSAEE = (TORRMIE — EETRAUER(66,310M]) + 100 x 0.084 x 1.1 |
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| LAEfRES = BEEHRe  + SRS R |




